PRICING MODELS
Dominant Firm Leadership with a competitive fringe
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Dominant firm lets fringe supply what it wants at each price.

For example, at price = 0b, dominant firm supplies nothing.  At price = 0a, dominant firm supplies the entire market demand (fringe supplies nothing).

At price = 0c; fringe supplies cd; dominant firm supplies ce, total supply is cf (note, by construction, cd = ef)

Dominant firm's profit maximization point.
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Dominant firm will set price equal to 0a, fringe will supply ab and dominant firm will supply ac.

LIMIT PRICING: 

Pricing to deter entry
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Short-run profit maximization: p=0b, q=0q1, profit=abcd
Pricing slightly below 0f will deter entry but profit=efgh.

efgh<abcd

what to do?
Profits over time
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Future profits must be discounted

Present value of a dollar = $1/(1 + r)t 

Where r is the discount rate and t is the number of years in the future the money will be received.
r is made up of several components

· the real interest rate

· the inflation rate

· the risk factor

The risk factor has to do with technological change, market demand, threat of imports, etc.  (i.e., are profits secure) 

The incumbent must choose the ideal strategy.  It can be a mix (i.e., price high initially, cut prices when entry is likely).
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Scherer uses the rate used by corporations in the 1970s and 1980s of 15%, and then the rate of the early 1900s of 7%.  But is this appropriate?

Presumably USS could have priced steel to keep up with inflation.  Assume a 5% inflation rate between 1901 and 1902:

	
	1901
	1902

	Entrants’ costs
	23.00
	24.15

	
	
	

	USS Price
	22.95
	24.10

	USS Cost
	17.00
	17.85

	Profit per ton
	5.95
	6.25

	
	
	


Only the real interest rate and the risk rate should be in the discount rate as long as prices and costs keep up with inflation.  This tends to increase the present value of a future “profit per ton,” and makes limit pricing more attractive.
Oligopolistic facilitating practices

Base price (or basing point) system (in the steel industry known as “Pittsburgh Plus”
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Assume freight from Pittsburgh to Chicago is $50, from Chicago to N.Y. is $150, and from Pittsburgh to N.Y. $200 (rates apply in either direction).

Pittsburgh is the base point.

Producer 1 always charges the “real” freight rate.

When Producer 2 ships to customer 2, the total freight charge is $200, of which, $50 is “phantom freight.”

When Producer 2 ships to Customer 1, the freight charge is 0, the producer “absorbs” $50 (this is called freight absorption)

Producer 1 and 2 do not compete on the basis of freight.

Imports (an ongoing US issue)

US imports as % of US consumption

	
	Imports

	1955
	1.2%

	1960
	4.7%

	1965
	10.3%

	1970
	13.8%

	1975
	13.5%

	1980
	16.3%

	1985
	25.2%

	1990
	17.6%

	1995
	21.3%

	1999
	27.9%
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UPDATE

2002: President Bush imposes tariffs on steel (8%-30%)

2003: (December) "safeguards" terminated

DUMPING (Figure 5.8)

"CONSTRUCTED VALUE" (Figure 5.9)

DISTRIBUTIONAL CONSEQUENCES OF DIFFERENT IMPORT BARRIERS (Figure 5.10)
Free Trade
P=$270/ton, U.S. suppliers supply 0QD,  Foreigners supply QDQI
Tariff 
Tariff = $30/ton, World supply price (in the US) rises to $300, US suppliers supply 0QD'  Foreigners supply QD'QI' at a price of $270.  US government collects ZWXY in tariff revenue.  Lightly shaded area is the increase in US producers' surplus, dark area is increased cost of using less efficient mills.

Quota
Assume an import quota of QD'QI' is imposed.  Imports = QD'QI' and P rises to 300 to equilibrate supply with demand.  Now the foreigners obtain the scarcity rent of ZWXY.  (This explains why Japanese firms fight over the quotas they are allocated by MITI -- they are worth a lot of money).

What about consumer welfare?
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